Simple sentence: subject + verb

The pilot had a heart attack.

The pilot from Brian’s plane had a heart attack.

The pilot from Brian’s plane had a heart attack and died.

Compound sentence: One independent clause + Comma + Fanboys (coordinating conjunction) + one independent clause

Not this: Brian was going to spend the summer in Canada. So, his mom gave him a hatchet.

But this:

Brian was going to spend the summer in Canada, so his mom gave him a hatchet.

At first, Brian did not care about the hatchet but it ended up saving his life. (Is there a comma?)
Brian was given a hatchet and $20 for his trip to Canada.(Is there a comma?)
SC + Dependent Clause + comma +independent clause

or

Independent clause + SC + dependent clause (no comma)

Because the pilot from Brian’s plane had a heart attack and died, the plane crashed in the wilderness.

Brian’s plane crashed in the wilderness because the pilot had a heart attack and died.

